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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2024 

CHE–06 : ORGANIC REACTION MECHANISM 

Time : 2 Hours  Maximum Marks : 50 

Note : 

1. Attempt any five questions. 

2. All question carry equal marks.  

 

1. (a) What are electrophiles and Nucleophiles ? 

Identify electrophiles and nucleophiles 

from the following : 5 

3 3

– –

3 3 3NH ; AlCl ; CH COO ; CH SH; I

O
||

; CH —C

 

 (b) Complete the following reactions : 5 

 (i) CH3CH = CH2 3BH
 A 2 2H O

 B 

 (ii) CH3CH2COOH 2SOCl
C 3NH

D  

   2Br ,NaOH
 E 
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2. (a) Complete the following reactions. 

 (Any five) 5 

(i) CH3CHO 


2 5

2

1. C H MgBr

2. H O/H
 

(ii)  CH3CH = CH2 
HBr

 

(iii)  CH2 = CH — CH = CH2  


HCl

Low temperature
 

(iv) 


  
_

6 5 2 3C H CH SNa CH I  

 

(v)   

 

(vi) CH3CH2CH2C = CCH3  

3

2

1. Na, liq. NH

2. H O
 

 

 

 

 (vii)    

 

 (b) Arrange the following in the order of 

decreasing nucleophilicity. Give reason 

for your answer : 5 

R2N–; F– ; RO– ; R3C– 
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3. (a) Discuss Pinacol-Pina colone rearrange-

ment with mechanism. 5 

 (b) How will you carry out the following 

conversions ? 5 

  (i) Aniline into p-bromoaniline 

  (ii) 2-Butene into ethanol 

4. (a) How will you prepares, 5 

  (i) Succinic acid from Diethyl malonate 

  (ii) 2-Pentanone from Ethyl acetoacetate 

 (b) Name and complete the following 

reactions : 5 

NaOH

3 3 3(i) CH CCH + CH CHO

O
||  

 

 

 

5. (a) Differentiate between soaps and 

synthetic detergents. Why are soaps not 

effective cleansers in hard water ? 5 

 (b) Give one example of any five of the 

following : 5 

  (i)     Antacids 

  (ii)     Anthraquinone dyes 
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(i)     Azo dyes 

(ii)     Antianxiety agents 

(iii)     Antimalarial agents 

(iv)     Analgesics 

(v)     Antiboiotics 

6. (a) Explain the formation of m-toluidene as 

one of the products on reactions of  

p-chlorotoluene with KNH2. 5 

 (b) How are free radicals generated during a 

reaction ? Why benzyl free radical is 

more reactive than ethyl free radical ? 5 

7. (a) Discuss Wittig reaction with the help of 

an appropriate example. 5 

 (b) How will you convert the following ? (Any 

two) 5 

  (i) Acetaldehye into 2-Butanol 

  (ii) Benzoic acid into Benzamide. 

  (iii) 2-Butyne into Butanone  

8. Write short notes on any two of the following : 

10 

(a) Electrophilic aromatic substitution 

reaction 

(b) Pericyclic reactions 

(c) Elimination reactions in alkyl halides. 
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foKku Lukrd (ch-,l-&lh-) 

l=kar ijh{kk 

twu] 2024 

 

lh,pbZ–06 % dkcZfud vfHkfØ;kvksa dh fØ;kfof/k 

le; % 2 ?k.Vs  vf/kdre vad % 50 

uksV % 1. fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

         2. lHkh iz'uksa ds vad leku gSaA 

  

1. (d) bysDVªkWuLusgh rFkk ukfHkdLusgh D;k gksrs gSa \ 

fuEufyf[kr esa ls bysDVªkWuLusfg;ksa rFkk 

ukfHkdLusfg;ksa dh igpku dhft, % 5 

                                        

3 3

– –

3 3 3NH ; AlCl ; CH COO ; CH SH; I

O
||

; CH —C
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 ([k) fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 5 

 (i) CH3CH = CH2 3BH
 A 2 2H O

 B 

 (ii) CH3CH2COOH 2SOCl
C 3NH

D  

   2Br ,NaOH
 E 

2. (d) fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, 

 (dksbZ ik¡p)µ 5 

(i) CH3CHO 


2 5

2

1. C H MgBr

2. H O/H
 

(ii)  CH3CH = CH2 
HBr

 

(iii)  CH2 = CH — CH = CH2 
HCl

  

(iv) 


  
_

6 5 2 3C H CH SNa CH I  

 

(v)   

 

(vi) CH3CH2CH2C = CCH3  

3

2

1. Na, liq. NH

2. H O
 

 

 

 (vii)    



 [ 7 ] CHE–06 

  P. T. O. 

 

 ([k) fuEufyf[kr dks ukfHkdLusfgrk ds ?kVrs gq, Øe esa 

O;ofLFkr dhft,µ 5 

R2N
–; F– ; RO– ; R3C

– 

3. (d) fØ;kfof/k nsrs gq, fiukdksy&fiukdksyksu 

iqufoZU;kl dh ppkZ dhft,A 5 

 ([k) vki fuEufyf[kr :ikarj.kksa dks fdl izdkj  

djsaxs \ 5 

  (i) ,sfuyhu dks p-czkseks,sfuyhu esa 

  (ii) 2-C;wVhu dks ,sFksuy esa 

4. (d) fuEufyf[kr dks vki dSls cuk,¡xs \ 5 

  (i) lfDlfud vEy ls Mkb,sFky eSyksusV 

  (ii) ,sfFky ,slhVsV ls 2-isUVkuksu 
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 ([k) fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, vkSj 

mudk uke fyf[k, % 5 

NaOH

3 3 3(i) CH CCH + CH CHO

O
||  

 

 

5. (d) lkcqu rFkk lka'ysf"kd viektZdksa ds chp varj 

Li"V dhft,A dBksj ty esa lkcqu izHkkodkjh 

'kks/kd D;ksa ugha gksrs gSa \ 5 

 ([k) fuEufyf[kr esa ls fdUgha ik¡p dk ,d&,d 

mnkgj.k nhft, % 5 

  (i) vEyuk'kd 

  (ii) ,UFkzkfDouksu jatd 

  (iii) ,stks jatd 

  (iv) izfrmÙkstd 
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  (v) izfreysfj;k dkjd 

  (vi) ihM+kgkjh  

  (vii) izfrtSfod 

6. (d) p-DyksjksVkWywbZu dh KNH2 ds lkFk vfHkfØ;k ij 

,d mRikn ds :i esa m-VkWywbMhu ds cuus dh 

O;k[;k dhft,A 5 

 ([k) fdlh vfHkfØ;k ds le; eqDr ewydksa dh mRifÙk 

fdl izdkj gksrh gS \ ,fFky eqDr ewyd dh rqyuk 

esa csafty eqDr ewyd vf/kd vfHkfØ;k'khy D;ksa 

gksrs gSa \ 5 

7- (d) mfpr mnkgj.k dh lgk;rk ls fofVx vfHkfØ;k dh 

ppkZ dhft,A 5 

 ([k) fuEufyf[kr dks vki fdl izdkj :ikarfjr  

djsaxs \ (dksbZ ls nks) 5 

  (i) ,slhVkfYMgkbM dks 2-C;wVkukWy esa 
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  (ii) csUtksbd vEy dks csUtkekbM esa 

  (iii) 2-C;wVkbu dks C;wVkuksu esa 

8. fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIi.kh fyf[k, % 

10 

 (i) bysDVªkWuLusgh ,sjkseSfVd izfrLFkkiu vfHkfØ;k 

 (ii) ifjjaHku vfHkfØ;k,¡ 

 (iii)  ,sfYdy gSykbMksa esa foyksiu vfHkfØ;k,¡ 

 

*** 

 

 

 


